MTH 204
Fall 2005
Exam 4

Name: Ke U
: ~a

P

Section: A / C

Math 204
Sections A and C Exams

Exam 4 Sec. A ¢ Fall 2005
J

Write

Read the directions carefully.

neatly in pencil and show all your work
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Each question is worth 20 points

Please do not share calculators during the test.

The last page contains your Laplace tables.

If you have trouble during the test, feel free to ask me for help.
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1. Find the inverse Laplace transform of the following
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2. Solve the initial value problem y"+3y'+2y = f(t) subject to { ¥(0)= with
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3. Solve the initial problem y"+2y'=8(t —1) subject to {
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4. Use the Laplace transform to solve the integral equation f(t) + [: (t-1)f (’t)d'c =t for f(t).
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5. Consider the vectors X; = 9 € and X, = 4 e,
a. Determine whether X, and X, are linearly independent on (—-00,00) .
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b. Do X, and X, form a fundamental set of solutions for X'= ( 8 1 2)7( on (—%0,) 9
State why or why not.
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Bonus, Use the Laplace transform to solve the following system of initial value problems
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